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QUESTION 1

You are using JDBC source connector to copy data from a table to Kafka topic. There is one connector created with
max.tasks equal to 2 deployed on a cluster of 3 workers. How many tasks are launched? 

A. 3 

B. 2 

C. 1 

D. 6 

Correct Answer: C 

JDBC connector allows one task per table. 

 

QUESTION 2

What is the disadvantage of request/response communication? 

A. Scalability 

B. Reliability 

C. Coupling 

D. Cost 

Correct Answer: C 

Point-to-point (request-response) style will couple client to the server. 

 

QUESTION 3

Where are the dynamic configurations for a topic stored? 

A. In Zookeeper 

B. In an internal Kafka topic __topic_configuratins 

C. In server.properties 

D. On the Kafka broker file system 

Correct Answer: A 

Dynamic topic configurations are maintained in Zookeeper. 
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QUESTION 4

Which of the following event processing application is stateless? (select two) 

A. Read events from a stream and modifies them from JSON to Avro 

B. Publish the top 10 stocks each day 

C. Read log messages from a stream and writes ERROR events into a high-priority stream and the rest of the events
into a low-priority stream 

D. Find the minimum and maximum stock prices for each day of trading 

Correct Answer: AC 

Stateless means processing of each message depends only on the message, so converting from JSON to Avro or
filtering a stream are both stateless operations 

 

QUESTION 5

A Zookeeper configuration has tickTime of 2000, initLimit of 20 and syncLimit of 5. What\\'s the timeout value for
followers to connect to Zookeeper? 

A. 20 sec 

B. 10 sec 

C. 2000 ms 

D. 40 sec 

Correct Answer: D 

tick time is 2000 ms, and initLimit is the config taken into account when establishing a connection to Zookeeper, so the
answer is 2000 * 20 = 40000 ms = 40s 
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